
Model# BG-09
Weed Grubber

Assembly Instructions



Step 1: Attaching The Jaws
With the spring (#7) facing down
place the M10x35 bolt
(#13)through the base of the
handle and the end of the Jaws.
Secure by tightening the Lock
Nut (#25) on to the M10x35 Bolt
(#13).
See Figure 1

Step 2: Attach The Cable To The
Jaws
Attach the looped end of the
cable (#11) to the Center Bolt
on the Jaws. Put a washer on
each side of the cable as
pictured in Figure 2.

#13 M10x35 Bolt

#25 Lock Nut

Figure 1

#11 Cable

Washer on
each side

Step 3: Attach Cable to Locking Lever
Put the bolt end of the cable through
the Square Bolt M6 (#10) with one M6
Lock Nut (#20) on each side of the
Square Bolt. Tighten the M6 Lock Nuts
snug to the Square Bolt. Do not over
tighten.

Figure 2

Figure 3

#20 M6 Lock Nut

#10 Square Bolt

#20 M6 Lock Nut

Assembly Instructions Model BG-02



Step 4: Set Tension On Cable
With the unit and jaws laid out
straight and with the locking
lever in the down position adjust
the side handle assembly so that
cable is straight with very little
tension on it. See Figure 4
Next secure the Side Handle
Assembly by tighten the bolts on
the bracket.

#11 cable #9 Locking Lever

#4 Side Handle
Figure 4

*note: When cable is hooked up
correctly the Locking lever and
jaws should look like Figures 5 &
6 when opened completely. Be
sure not to have too much
tension on the cable. Figure 5 Figure 6

Step 6: Attaching The Lift Leverage
Stand
Slide the Lift Leverage Stand (#3)
into the intended hole on the back
of the handle. Put the M10x40
Hex Bolt (#16) through the outer
most hold on the handle and
through the hole in the Lift
Leverage Stand. Secure by
tightening bolt. See Figure 7

Figure 7


